R:\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-888 Masonite FG VG GLAZED (Trilennium)\C - Drawings\TX-4690.91.93.94.dwg, TX-4693

POWERED Bvlﬁ

ENDURA

DOOR COMPONENTS MADE IN THE USA

Glazed Fiberglass Door

"NON-IMPACT"
INSWING / OUTSWING

EVALUATED FOR USE IN THE STATE OF TEXAS _

The Glazed Fiberglass Door system described herein complies with the 2018
Inferational Residential Code (IRC}, Sections R301 & R40% and the 2018
Infernational Building Code (IBC), Sections 1404.13, 1609, 1709.5, 2403 and 2404
subject to the following conditions:

1. Anchors shall be as listed and spaced as shown in the details. Anchor
embedment fo base material shall be beyond wall dressing or stucco.

2. When used in areas requiring wind-bormne debris protection this product is
required fo be protected with an impact resistant covering that complies
with Section R301.2.1.2 of the IRC and Section 1609.2 of the IBC.

3. Allowable design pressure reguirements must be equal to or less than the
design pressure rating shown in the design pressure chart, sheet 1 of this
drawing.

4. Conditions not covered by this drawing are subject to further engineering
analysis.

TABLE OF CONTENTS

SHEET # | DESCRIPTION
1 Typical elevations, design pressures & general notes
Door panel details
Slidelte panel details (lip lite insert glazing)
Horizontal cross sections
Vertical cross sections
Vertical cross sections
Frame anchoring

~NjosfhiAa WO

112.25" MAX. OVERALL

FRAME WIDTH

o xS b

Ploadi S el o) :

g Gy o't = H

S i3
RN F
~: ?inN
H iv
S AN
5 Z e

WL 8!
’li(&%o.... < g’.

Wi

Mk

Zo. 2/~r7

98" MAX. O.A. FRAME HEIGHT (INSWING)

97.125" MAX. O.A. FRAME HEIGHT [OUTSWING)

(o) (o]

INSWING

-40.0

(0) (o]

OUTSWING

-45.0

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

813.659.9197

TEXAS BOARD OF PROFESSIONAL ENGINEERS

P.O. Box 230 Vairico FL. 33595
CERTIFICATE OF REGISTRATION # F—11852

BUILDING CONSULTANTS, INC.

Documents Prepared By

Phone No.:

%)
=
28
<
&
gL
<
o RO el Y
> <O
S |2luy
Z =
ol @
a o
< Fx
£ o €3
753
< S| Ly
Q o th‘l
v
o el T
& <
o a.
0l =
Yl 1o
L
o
o
e
O
8l
£ 10)
Si@| |»n
A z
o|® 1Q
SR 2
o B e
el
S|
Lol
oIE
g5
<
m
S e
Q <
S 18
-1 lo
z
DATE: 4/27/17
ScALE:  N.T.S.
DWG. BY: JK
CHK. BY: LFS
DRAWING NO.:
TX—4693

SHEET 1 oF 7




ul
oY 2]
HINGE STILE LATCH STILE S x;uh it "
(LAMINATED WOOD) (LAMINATED WOOD) Fo w210 55, &g
TOP RAIL Za%s =2 "% Ex 2 uwo
EXTER'OR 0 98“ gl{l:' X , ¢! 8 R I [ g -
= 98 = (LAMINATED WOOD) P, Qim 2] Qo4 gw 87
2 oI N N o SN Dk
/ \ ‘52 wig % ;22w
f 1 * i “: zi2 N §§ § 8 o :(Zf z
& o iQ o |3° 558 gk
™~ IQ (6;.." Z e N a >n Qé
- R 51 £ 0% £8® ob
‘ N Nniaden ) z N 3§ E%
: . xXZ .
16— INTERIOR 16—~ ° TS
DIV i 0 50Qr¢ lu
WOOD LOCK BLOCK DOOR SKIN s mg 2 5
21" LONG 2
/ 1"\ HORIZONTAL CROSS SECTION ‘ ’ ~ - 2
35.75" MAX. (2 :. £ & B
PANEL WIDTH 8
L, 2475'MAX
D.L.O. WIDTH
D wn
1" %%’
—] GLASS BITE 5/8 il
[STaY
/ i —— 1" NOMINAL GLASS THK. %t o1 o
m j/ BACKBEDDING ) a |z =2
Vi = SEALANT /8 TEMPERED GLASS I EES
\2/ ; ? ~ ARSPACE INTERIOR EXTERIOR A oo
N = - o g % CO)“E
? ™~ 1/8" TEMPERED GLASS 5 ¥
= & &
O & ALUM SPACER —
= B8 g &
o
Z 5 1) GLAZING DETAIL 1
:(_‘ 5- X Flush Glazing s
< X = 8
= 3 i ’ SIS
uy . oo
N B S|2| |2
e ™ 1ol 1B
R 2
ht >
SEE HARDWARE tlo| |&
/ TABLE FOAM CORE ||; v s
B - . = g
/// , DOOR PANEL ™ | = kS
/ k oy . Q %
/ L =t 2
MR 3
SINN SE
BOTTIOM RAIL — | N S
2 (COMP.) Y ~ g
@ e 1.75" —>! OATE: 4/27/17
MASONITE st N.T.S.
VistaGrande Fush Glazed DWG. BY: JK
Fiberglass Door Panel cHK. BY:  LFS
Trlennium®3000 Series TRILENNIUM (2 VERTICAL CROSS SECTION AN T
DOOR SKIN: FIBERGLASS {0.085" MIN. THICKNESS) Endura Multipoint Lock (3pt.) SERIES 3000 MULTIPOINT \2/ TX—4693
CORE MATERIAL: POLYURETHANE FOAM (1.9 PCF MIN.) LOCKING SYSTEM —

R:\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-888 Masonite FG VG GLAZED (Trilennium©\C - Drawings\TX-4690.91.93.94.dwg, 2.4

© zo017 R.W. BUILDING CONSULTANTS INC.



R:\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-888 Masonite FG VG GLAZED (Trilennium)\C - Drawings\TX-4690.91.93.94.dwg, 3.4

HINGE STILE
(LAMINATED WOOD)

/

35.75" MAX.
PANEL WIDTH

24.75" MAX

- et ——e

D.L.O. WIDTH
D

/
Va

P

T

O £

2 0

o *

< O

& g X

2 %

n =

N B

wny N

o~

/
Va
/
@
MASONITE
VistaGrande Flush Glazed

Fiberglass Sidelite Panel

SIDELITE SKIN; FIBERGLASS (0.085" MIN. THICKNESS)
CORE MATERIAL: POLYURETHANE FOAM (1.9 PCF MIN.)

1_*].63,.*1: IR N At

/"1 "\ HORIZONTAL CROSS SECTION

EXTERIOR

INTERIOR

LATCH STILE

{LAMINATED WOOD)

/

3/

BACKBEDDING

SEALANT t

GLASS BITE 5/8"

— 1" NOMINAL GLASS THK.
1/8" TEMPERED GLASS

_—AIRSPACE

? ™~ 1/8" TEMPERED GLASS

ALUM SPACER

GLAZING DETAIL

Flush Glazing

ud
acORy; al
S 8
S rinl 0 83 0
R EFRNOX E2 8 &
TOP RAIL g T G st B 2
(LAMINATED WOOD) ae Oim SB9l Hou ¢8 @
5 i et odl Nt T n
N gt wiz Z3Zl ey pEE
< . z:2 o0io¥) a 8§ go"!g
1}\9‘,‘ §iT\F o { b4 ZE8 ©
AFES i Wer 3> dge 0
Ill X S Z Lt 3>1 W
i g i % TR . &8® S
PN Niades® N
M z
S H g. 8, 6
§ 38 g
: & oo g
SIDELITE SKIN : > § 8
\ : ‘g
‘~ PR
- -3
g
[a}

o
a2
<IN
53
(1@

g | ok
2 |3 25
INTERIOR EXTERIOR ﬁ =it
.. < @=
— - O
s
sl |
[+ 98 .
£
-~J
Ly
[
O
&0
3|z
£lo
S|@
:(D ‘(E
S
[
ta
; - Q
FOAM CORE || SJF
\ . }‘:- %“
3 2|5
<C
‘ (o)}
NEE
X N\
BOTTOM RAIL — | S| I°
(COMP.) 15
Z

@ VERTICAL CROSS SECTION
3

CERTIFICATE OF REGISTRATION # F—11852

REVISIONS

OATE: 4/27/17

SCALE:  N.T.S,

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
TX—4693

SHEET 3 oF 7

© 2017 R.W. BUILDING CONSULTANTS ING.’



] STy
5 5 FowiSimDply, | |58, g4
RS S Y X £+ 5y
&ys tOm ©% g s M) & -
b > ~f 1FIQ W N|ouw g9l 94
u:%s"’zv— ] cv 25y 8l
2 LTRS¢ 2 - -y
/ / / SLPNLEE ¢& 53 £
/ / / W, i5t 3 9 o 23
//// ,/// ,/// A7 §§ : "}kQ\ 5 g §8 §§
S et & bl o n-n W
BACK-TO-BACK JAMBS: Ry 15§ Ve . Zg® 5b
/1) (A5 "FusionFrame” (1 OR 2-PIECE) Mavhandes™ & S8 £
\ 4/ v ww "FusionFrame" s 0x2 .%
3 MULLION ; .Sz: 8, b5
@ 7 ~ £ 254 &
[&]
(( M) INTERIOR #10 X 2-1/2" PFH 2 o
O X O 8 \\ % WOODSCREW | § 5 7
/20 \@ #8 X 2-1/2" FH COURSE 0] [ | ENDURA WEATHERSTRIP (SEENOTE 2) 3 "
4/ v THREAD DRYWALL SCREW 0 O (QEBD/PE 650) 8
(SEE NOTE 1) ( ENDURA WEATHERSTRIP SIDELITE PANEL
4 DOOR PANEL (QEBD/PE 650) L
4 v / /
/,// / ya .
/ 4// / \ 5 e %
/ = oo - < 9 &=
> b q d NP g 5 § 8 ;
/ (V1 ot COEV)
1 njun T (@]
5 3 1N/ 2 4 SIDELITE PANEL \ F10X 2-1/2 PFH W OXIPRH | 5
#8X 1" PFH SMS WOOD SCREW | TOODSCREW 1 x
\b/ &/ 8 A8/ #8 X 2-1/2" PFH WOOD SCREW DOORPANEL -y rpopny YOOPSC (SEE NOTE 1) 2 ©
CORNER PADS STRIKE PLATE x
(TYP) #8 X 3/4" PFH SMS 4" HINGE EXTERIOR g &
(3 HORIZONTAL CROSS SECTION ("4 "\ HORIZONTAL CROSS SECTION g s

\_4_/ Outswing shown - Inswing also approved \_4_/ Outswing shown - Inswing also approved

e 15" —»] F=—1.5" —

Ri\Clients\Endura PERMANENT\B - Texas Dept of Ins\TD! - DR-888 Masonite FG VG GLAZED (Trilennium)\C - Drawings\TX-4690.91.93.94.dwg, 4.4

Ly
3
3 O
WOOD 4-3/8" FATBOY 4-3/8" FATBOY Z|e
\ PINE MULLION PINE MULLION \ 25
oo [72]
1=
COMPOSITE \ INTERIOR #8 X 2-1/2" FHl COURSE el 6
\ . #8 X 2-1/2" FH COURSE ENDURA WEATHERSTRIP THREAD DRYWALL SCREW ) g S
o 2 THREAD DRYWALL SCREW (QEBD/PE 650) (SEE NOTE 1) Sol
3 e d .S
3 q S 3 (SEE NOTE 1) \ DOOR PANEL ENDURA WEATHERSTRIP ) SIDELITE PANEL B
L N Yy , (QEBD/PE 650) L 2ls
- ] = __I:' N N s\‘\&y// N § L
\Cj C] J ‘\\”\Q\‘/' \\\\ §, ~ 1{‘/‘/;/",'"/',;///.«'/‘//_/.// g g
2.5 2.5 \ N -l g
FATBOY MULLION MULLION SIDELITE PANEL QX " PEH SMS #10 X 2-1/2" PFH WOOD SCREW ONTE: 4/27/17
PINE "FusionFrame” #8 X 2-1/2" PFH WOOD SCREW DOOR PANEL SCAE:  N.T.S.
) MULITPOINT WG B JK
#8 X 3/4" PFH SMS 4" HINGE EXTERIOR STRIKE PLATE ok e LFS
NOTES: /"2 "\ HORIZONTAL CROSS SECTION DRAWING o
1. Spacing for sidelite screws: 4.5", 35.5', 57.25" and 88" from head fosil (4 fofal). 1\ HORIZONTAL CROSS SECTION o

w Outswing shown - Inswing also approved

2. Spacing for mullion screws: 4" from each end plus 3 more equally spaced (5 fotal). W Outswing shown - Inswing also approved seer 4 oF 7

© 2017 RW. BUILDING CONSULTANTS ING.




R\Clients\Endura PERMANENT\B - Texas Dept of Ins\TD! - DR-888 Masonite FG VG GLAZED (Trilennium)\C - Drawings\TX-4690.91.93.94.dwg, 5.4

2X FRAMING

L
2X FRAMING 2X FRAMING d XMy, an
(G >=0.42) (G>=0.42) (G>=0.42) _— Shaisi oW 2 "
] ) . e * <2 T
~m . - T BN £= g 4¢
1 o’ ¢l il o [T : ¥ &£
e i S N T - \ EXT. SHEATHING /1|4 S e 2 ; L2l
#1114 it oo e
' 1 N DRYWALL i EXT. SHEATHING \ ' N 53 £s2 i
1 LTI L S S o
\ il ) DRYWALL \ i | L 1 | PRIWAL 5F 558 22
4 L | A Z Ow 7]
all | #10x2:1/2 PFH LT #10X 2-1/2" PFH , & 88y £o
Ak il " WOOD SCREW » TN WooD SCREW , = o ggd
: e L mt 1 g g .8 5°
SHIMSPACE _ [[|¢] 1/4" MAX. ~ J >~ “ g = Ru
N o SHIMSPACE ™ | ik #10X 3" PFH & BEE 2%
DZ ¥ T WOOD SCREW s X O
sgE = 1/4" MAX. £ e< é%
l SHIM SPACE = 000 Eﬁj §
DOOR PANEL \ ? SIDELITE PANEL ~ \\ ? DOOR PANEL
\ HEAD: PINE \ HEAD: "FUSionFere" (]“P'ECE) (é)
' #8 X 2-1/2" FH COURSE HEAD: PINE ENDURA WEATHERSTRIP %
ENDURA WEATHERSTRIP  THREAD DRYWALL SCREW (QEBD/PE 650) 7
(QEBD/PE 650) (SEENOTE 1) g 0
\\ o
EXTERIOR W INTERIOR INTERIOR " EXTERIOR EXTERIOR INTERIOR % 58
NOTE: 7y
m VERTICAL CROSS SECTION m VERTICAL CROSS SECTION m VERTICAL CRO..SS SECTION I Spacing for sidelite screws: Q §
W Outswing shown - inswing also approved \y Inswing shown - Outswing also approved W Outswing shown - inswing also approved 6"fromeachend (2total). |- « §
5} Sl
3 =
o 24
o <
o [a N
& s

0.75" —1—--" 0.75" ‘1<—>'

P s

H 0.75"
S,

COMPOSITE
SNAP-ON
CAP

N\

4.56"

LVL

-

Goonn=. /.

—>| 1.25" l-'—_,

1.25"

1.25" =
JAMB / HEAD JAMB / HEAD JAMB
PINE "FusionFrame” "FusionFrame”
{1-PIECE) {2-PIECE])

174" MAX.

SHIM SPACE 1/4"MAX.  #10X 2-1/2"PFH

#10 X 2-1/2" PFH WOOD SCREW SHIMSPACE  WOOD SCREW

JAMB: PINE / /DRYWALL JAMB: "FusionFrame" DRYWALL
(1 OR 2-PIECE /
Y et INTERIOR ’ —
#8 X 2-1/2" FH COURSE \ #8 X 2-1/2" FH COURSE
THREAD DRYWALL SCREW THREAD DRYWALL SCREW
(SEE

(SEE NOTE 1) \

o
S —— — —E—— —
PG e g e g Mg Mg I g -

SIDELITE PANEL EXT. SHEATHING

m HORIZONTAL CROSS SECTION
w Outswing shown - Inswing also approved

™\

2X FRAMING
(G >=0.42)

EXTERIOR

NOTE])\ ~

UPDATE TO 2018 IBC/IRC CODE

\\

2X FRAMING
(G >=0.42)

10/24/19/ADD "FusionFrame” OPTION &

NO,| DATE

1

REVISIONS

R g g g g e R e

OATE: 4/27/17

SCALE:  N.T.S.

SIDELITE PANEL

DWG. BY: JK

EXT. SHEATHING

CHK. BY: LFS

/"5 "\ HORIZONTAL CROSS SECTION

DRAWING NO.:
TX—4693

w Outswing shown - Inswing also approved

SHEET 5 oF 7

© zo1 7 R.W. BUILDING CONSULTANTS IND.



R\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-888 Masonite FG VG GLAZED (Trilennium)\C - Drawings\TX-4690.91.93.94.dwg, 6.4

. - A\ SOV j
ENDURA ENDURA ENDURA WEATHERSTRIP §\:\ - : 'L;hl 5 "
DOOR DOOR SWEEP ES@E\ DOOR SWEEP '53:;%{‘,...: 2 Fon g3 9.
HES £c 0
PANEL \{| (DBKR) (DBK-ZAC) AL X3 8
@ ~ @i Gu ¢gB By
44 Wi o : e F a5 Gu
000006 N 3% Lig & 3 608 o
g i Y X Q1 «F EE =23 ©9°
e A ] 157 'II o :% o 2 3828 mF
¥ = L\ iy O i - '-,.'0 :‘..‘ "
, INTERIOR EXTERIOR Itlg x> iR Z2on gé
LALLLUCLY ‘1‘!&:% A Y 8 3 . O
INTERIOR EXTERIOR INTERIOR EXTERIOR RS 2 o3 3 &g
g g g ol
NOTE: § 368 fu
#10 X 2-1/2" PFH WOOD SCREW OR 1. Spacing for sidelite screws: £ fLt 5%
#10 X 2-1/2" PFH WOOD SCREW OR #10 X 2-1/2" PFH WOOD SCREW OR 174" X 2-3/4" ELCO OR TW CONCRETE SCREW 6" from each end (2 fotal). 2 & Bg
1/4" X 2-3/4" ELCO OR ITW CONCRETE SCREW 174" X 2-3/4" ELCO OR ITW CONCRETE SCREW E E
I~ /"3 \VERTICAL CROSS SECTION E K
m VER'TICAI.. CROSS SECTION 2 VER'TICAI.. CRQSS SECTION \U Outswing Bump Threshold 3
\U Inswing Adjustable Threshold W Inswing Articulating Threshold SDELTE - 77_~ a
A
SOELTE N (1002)13)
PANEL )
s l 170
#8 X 2.5" COURSE THREAD %Lr #8 X 2.5 COURSE THREAD — {2 | 5
DRYWALL SCREW N\ DRYWALL SCREW G775 - 2
(SEE NOTE 1) \\\\% , (SEE NOTE 1) (7 e = 5 2o
INTERIOR ‘; N BaEROR EXTERIOR ———— Z § L:>J§
g 5 x
Q o
) #10 X 2-1/2" PFH WOOD SCREW OR 3 e
#10 X 2-1/2" PFH WOOD SCREW OR 1/4"X 2-3/4" ELCO OR ITW CONCRETE SCREW 2 :
1/4" X 2-3/4" ELCO OR ITW CONCRETE SCREW
/"4 \ VERTICAL CROSS SECTION (5 "\ VERTICAL CROSS SECTION 2 &
w Inswing configuration w Qutswing configuration Lé'
| _ L { _ off
q | = ' 2 - SK
= | il 7 SE o
bl 456" | | 4.56' | [ 456" | f 4.56' | || [
212 O
INSWING ADJUSTABLE THRESHOLD INSWING ADJUSTABLE THRESHOLD 3 INSWING ADJUSTABLE THRESHOLD @ INSWING ADJUSTABLE THRESHOLD 5 INSWING ADJUSTABLE THRESHOLD Lg & —>(Q
1 S arases 2 ) 565N TAILAA4565 ZAIAA4545FN ZAI4565RDS £ &
By
o
) ;i -~ | - Q > N - o
L o g { W
P 456" | [ 456' | [ 456' | f 456 | 3 |z
INSWING ARTICULATING THRESHOLD INSWING ARTICULATING THRESHOLD 8 INSWING ARTICULATING THRESHOLD 9 INSWING ARTICULATING THRESHOLD 10 INSWING ARTICULATING THRESHOLD 2 ]
6 LACLA565 7 TAC4565FN LACLAA4565 LIACAA4565FN IAC4565RDS -l 2
! oWTE: 4/27/17
) : . scae:  N.T.S.
_%. % % DWG. BY: JK
- - L - cHK. B:  LFS
* | 456" ,! f | 456" ,! ? 456" l DRAWING NO.:
@ OUTSWING THRESHOLD 12).QUISWING THRESHOLD 13 ) QUISWING THRESHOLD TX—4693
Z0OBL4565 ZOB4565FN ZOB4565RDS SHEET 6 OF 7

© 2017 R.W. BUILDING CONBULTANTS INC.




R:\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-888 Masonite FG VG GLAZED (Trilennium)\C - Drawings\TX-4690.91.93.94.dwg, 74

, HEAD ANCHORS: u
s, O #10 X 2-1/2" WOOD SCREW {PINE JAMB) oo
Q0% #10 X 3" WOOD SCREW (1-PIECE JAMB) i-é 3§ 5 B
[y -
298 » & JAMBANCHORS: 5o 48 £°
< 9 k (P - . (TYP.) ~ #10 X 2-1/2" WOOD SCREW (PINE/2-PIECE JAMB) s 2. gd
' 6 #10 X 3" WOOD SCREW (1-PIECE JAMB) Ty GRS w
! T 8 Ea2 iz
] T SEE HINGE . T T | N 57 53¢ ak
Ty DETAIL 1 \ / \“ 1. 2ob §§
5 * DETALL 1 i & Sy oy
3 DETAL 1 “' B o248, by
© B * § 268 8 m
) o & Boa g
o~ ’ - — . ’ \ 8 g i) g
) - > & &
3 R ° <E i ¥ sex212pPHws [E & 3k
N NS ) / 2 a
N o ) e LI - 8
= u ’. - e
3 - = - . | #8 X ] PFH WS 4:. RN /> #8 X 3/4n PFH WS
0 —4 |
] K — 4" X 4" HINGE
| SEE HINGE ‘ * \ O
EEB | \ <=
DETAIL 2 . &
n _ ! SEESTRKE™ ||| @ HINGE DETAIL 1 g |, 3
PLATE DETAIL ~ 2 =
- TYP. L =
g ™t \ i
= L=, n t <} o<
EEQ/ DETAIL 1 % DETAL 1 |~ #BX2I/ZPRHWS . ol &
. - P / 2 o
' i PN IR ; 4:. e 3 i
] H " = ® <
B %& = 4 (TYP a } N REXVPRHWS <0 T F=p #e X34 PRHwWs  |> -
Y e | S "~ 4"X 4 HINGE 2
- CE.W (mP) SILL ANCHORS: A\ "
) #10 X 2-1/2" PFH WOOD SCREW Q
FLOOR SUBSTRATE MATERIAL 3
HINGE JAMB CONCRETE {MIN. 3000 PSI) FRAME ANCHORING 1/4" X 2-3/4"ELCO OR STRIKE JAMB HINGE DETAIL 2 IO
WOOD (G >=0.42) OXO ITW CONCRETE SCREW z|2
=N
JAMB NOTES: | 519 |,
THE PINE OR "FusionFrame™ 1-PIECE JAMB MAY BE INSTALLED @ THE HEAD OR SIDE JAMB. * . . A ; %
THE FusionFrame" 2-PIECE JAMB MAY BE INSTALLED @ THE SIDE JAMBS ONLY. NOTE: These anchors are required for D.P. > 40 PSF. 2=l i3
s|N| S
INTEGRAL MULLION NOTES: Lol D
THE FATBOY PINE MULLION, "FusionFrame" MULLION, OR THE "FusionFrame" BACK-TO-BACK 2 w
JAMB {1-PIECE OR 2-PIECE) MAY ALL BE USED AS THE INTEGRAL MULLION. LE g
CONCRETE ANCHOR NOTES: ' ' 2|5
1. Concrete anchor locations at the corners may be adjusted to maintain the min. ;
edge distance fo mortar joints. NI
2. Concrete anchor locations noted as "MAX. ON CENTER" must be adjusted to N 3 b2
maintain the min. edge distance to mortar joints, additional concrete anchors N
may be required to ensure the "MAX. ON CENTER" dimension are not exceeded. #8 X 2-1/2" COURSE | = S
3. Concrete anchor table: THREAD #10X2-1/2'FHWS =D 1=
e - , ~ : Py p DRYWALL SCREW / =) T MULTIPOINT )
oATE: 4/27/17
A STRIKE PLATE SoAE NTS.
N DWG. BY: JK
DETAIL 1
Tw =Aar2 )
® o .3/4" -1/2" " ; STRIKE PLATE DETAIL cHk. BY:  LFS
TAPCON 1/4 1-3/4 1-1/ 4 Integral mullion attachment TR
ELCO . . . . TX—4693
ULTRACON®| 1/4 1-3/4 1 4
SHEET _/ ofF 7

@ 2017 R.W. BUILDING DONSULTANTS INDC.




